Fall 2009

Sample Chapter Test 14

Name:

Section: Score:

/50

A. Change the phrases as indicated in English clues. No partial points will be given. (1 x 10 = 10)

HED can show BHEE even if it is a car
723 if you submit DIE5 [She] wants to climb
¥hd [plain past] PR if it is expensive
BSAIZITND want to take a bath [-279 if you don't use it
FOLrHVETA if it is not so L7 even if it is quiet

B. Match the cause and effect phrases below. (1 x 6 = 6)

HTFA T =D T 7-5

a. BEAIZALZRNNIINNNERBBWET,

HLIZTNELT b. ZxoI% RATp\ T,
&L T c. Ry (BB DNTT,
FHDI2RFETTLEZ R T d. ISRV FEL T2,
E120NESE eV/atiil>) e. HDOITER A,
ONRBHLHNE f. DEPNZNTT,

C. Give the proper suggestion to each of the symptoms of iliness or injury below. Use ~f=5&5 T3 M or ~L1=
[F5H5L Y (or LAZLVMES ALY, (2 x 5 = 10)

1. |A:

B:

LW TT, B 126D (luggage)E bom A TT,

LT, U,

o8

A: HLTC, BAFEDT AN HDHATT,

D XTI, Loy

o3}

D XTI D Loy

A: bIEbLN AL 2 —FEB WA TT,

o3

A IR BTN THATT,

L 2T, L,

B:

THTT D, Lo

A: ROPBHLEBLVET, HFbWTT,

D. Based on the example, state what you want to do and what you don't want to do. Use both Vf=L\ ("l want to
V") for AZR and Vi=h>TLV% ("Someone wants to V") for KL71Z. (2 x 6 = 12)

Example:

HY: BRI TS0, a2 LW T3,
AR SUINZ DIEVTZWNTT R, Th, AF—L L7272V T,
Later, JJL7Z reports:

U7 ASAZAUIT B ARITATH725, SCHNZ DIFV7=RN->T0ET,

AIA:

Later, JXL7Z reports:

A AARIAT 726 TE L2 T,




XLz

HH: 503 I (Winter vacation)lZi%. ifZL 72Ty,
Later, J.L77 reports:

AIA:
Later, JXU7Z reports:

fL72:

M BARGEN EFITRo726, (%2 L72W T,
Later, JXL7Z reports:

AIA:
Later, JXL77 reports:

KL

E. Examine what B (Physician) is saying and create the approriate permission seeking question. Use VTHULWNT
9 H form. (2x 3=16)

1.

A
B: 7ARRHSTH, FRIATORNAFID WINTL LD,

A
B: &£4%& RATZ 1E9H W TT A,

A
B: SATIE D FENERAD, LVETLHOIT ZEVFET A,

F. Respond to the following using ~&&EHWVET or ~TLELS. (2x3=16)

1.

A HHPEAES H 20D % RIZITRe< %L (promise) # L FL 7225, HH R RARNATT,

B:

A ELTH TR DBV ET D,

B:
A BWTEWARKR (1ZAR)ITRWATY, E9LTZHWDNTLEID,

B:




